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| FHE 81| 119, 300 .ol 24 318,900 4.2| 2| 127,300 2.7 2| 52,000 5.1 6| 40,300 A 0.5| 115| 155,800 1.7
#| 2| 23| 238,300 A 0.2[ 5] 914,000 0.2 - - -1 1| 80,000 25.0 1| 71,000 6.0 30| 340,000 0.9
3|t 35| 157, 500 L.3| 8] 442,900 5.4 2| 141,500 0.4 1| 67,000 26.4 1] 25,500 A 1.9 47| 200,600 2.4
| 4| A ET 13| 29,400 0.9 4 53,700 A 0.2 1| 27,100 A 0.4] - - -1 3] 12,900 A 1.8 21| 31,500 0.3
5] LAV 30[ 155,900 A 0.7 7 395,400 0.6 - - -l - - -| 1] 75,000 A 0.7[ 38] 197,900 A 0.4
i e|Erm 16| 68,900 A 0.7] 2| 130,000 0.0 - - -l - - -1 1| 30,000 -1 19 73,2000 A 0.6
7|pR T 15[ 58,000 o[ 2[ 115100 0.0 - - -l - - - 2| 11,500 0.0l 19| 59,100 0.8
| 8|tEATH 16[ 80, 100 0.0 3] 122,000 0.3 - - -l - - -| 1] 15,300 A 0.6] 20| 83,100 0.0
9| H &S 11] 169, 200 L.9[ 1 275000 5.4 - - -l - - -l - -l 12| 178,000 2.2
x| 10|t 36| 123, 600 0.9] 4] 587,800 2.2 1] 118,000 2.6] - - -| 3| 36,200 A 0.6] 44| 159,700 1.0
L1 27| 53,800 1.8 4| 89,000 2.2] 2| 30,900 0.0l 1| 18,500 0.0 3| 19,600 0.0 37| 52,600 1.6
| 127 14 136, 900 1.4 1| 328,000 7.5 - - -l - - - 1| 55,500 0.0 16| 143,800 1.7
I3[\ TFAR T 16 125, 500 0.1 2| 207,500 2.0 - - -l - - - 1| 39,500 A 1.3] 19| 129,600 0.2
~| 14| FFR T 12| 107,800 A 0.5 2| 106,500 A 0.3 - - -l - - -| 1] 38,000 A 2.6] 15[ 103,000 A 0.6
15|87 9| 94,300 A 2.7 1] 119,000 A 1.7| 1| 83,000 A 2.4 - - -| 1] 51,0000 A 2.8[ 12[ 91,90 A 2.6
| 16| 7 31,300 o[ 1 61,700 0.3 1| 20,800 A 10| - - - 1| 14,300 A 1.4] 10| 31,600 0.5
| 17) & 4] 20,800 A 0.2 1 23,000 A 0.9 - - -l - - -l 1] 11,000 A 1.8 6] 19,500 A 0.6
{b| 18|zt 10[ 349, 700 A 0.9] 1] 725,000 0.0| 1| 150,000 -l - - -l - - 12| 364,300 A 0.8
X | 19| putEE i 9| 67,800 A 0.1f 1] 108,000 0.0 - - -l - - -1 1| 21,900 0.0 11| 67,200 A 0.1
Iak| 20 2 T 6| 44,500 2.4 1| 82,500 3.9] 1| 26,000 0.0 1| 23,500 0.0l 1| 12,900 0| 10| 41,200 1.9
21|FPG 6| 55,700 A 0.3 1] 52,200 A 1.5] - - -l - - -| 1] 15,100 A 1.3 8| 50,2000 A 0.6
| 22| A3 4| 80,500] A 0.4 - - -l - - -l - - -| 1] 38,000 A 2.6 5 72,000 A 0.8
#l 23| & Bl 4| 48,600 0.0] 1| 105,000 0.0 - - -l - - -| 1] 14,400 A 0.7 6| 52,300 A 0.
| 24 i % HAT 4] 55,200 A 0.2 - - -l - - -l - - - 1] 9,700 A 3.0 5| 46,100 A 0.
Ik 25|FIig kT 1| 38,700 A 0.8 - - -l - - -l - - - 2| 10,800 A 1.0 3| 20,100 A o0
26| A FT - - -l - - -l - - -l - - - 2| 13,000 A 1.1 2| 13,000 A 1.
| 27|y 3| 42,200 A 1.7] 1| 74,000 0.0] - - -l - - -l 1] 9,800 0.0 5| 42,100 A 1.
28| KA 1 ELHT 4] 30,100 A 0.5 1 49, 000 0.0 - - -l - - -l 1] 12,000 A 0.8 6] 30,200 A 0.5
NS 416| 117, 400 0.5 79 315,700 2.3] 12| 85,400 0.5| 6| 48,800 10.3| 40 27,000| A 0.8| 553| 137,700 0.8
29|k 8| 32,800 A 0.4 2| 87,800 A 1.2] 1| 27,000 0.0] - - -l - 11| 42,300 A 0.5
30[#F LT 7| 29,200 0.4] 2| 45,200 0.6 - - -l - - -l - - 9| 32,700 0.4
31| 10| 28,700 0.3 3] 52,400 0.0l 1| 13,900 0.0 - - -l - -| 14| 32,700 0.3
32| HATh 6| 26,000 0.0l 2| 55000 2.4 - - - 1| 12,000 0.0 - - 9] 30,900 0.5
33| BT 4] 21,600 A 0.8] 1] 49,200 A 1.0| - - -l - - -l - - 5 27,100, A 0.8
| 34| i 5| 22,500 A 0.7 2[ 36,200 A 0.2[ - - -l - - -l - - 7| 26,400 A 0.6
* 35|51 7 22,600 0.0l 3] 34100 0.0] - - -l - - -l - -| 10| 26,100 0.0
[ 3ea 6| 21,000 A 1.1 1] 52,800 A 1.5] - - -l - - -l - - 7| 25,500 A 1.1
a7 BT 5[ 20,400 A 0.7 1| 65600 A 0.6] - - -l 1] 8000 A 1.2] - - 7| 25,100 A 0.
) 38| FH 8| 26,900 A 0.4] 3] 49,300 0.0] - - -| 1] 10,000 A 2.0 - -| 12| 31,100 A 0.
| 39| i 12] 15,400 A 0.5 2| 35600 A 1.2| - - -| 1] 10,200 0.0] - -| 15| 17,800 A 0.5
" 40|\ ATt 8| 18,000 A 1.6 1] 34,700 0.0] - - -l - - -l - - 9| 19,800 A 1.4
41| %y 3[ 10,700] A 2.6 1| 25200 A 3.1 - - -l - - -l - - 4 14,400 A 2.7
[ 42|z pEmy 3| 14,400 A 1.1 1 17,600 A 2.2 - - -l - - -l - - 4| 15,200 A 1.4
FE| 43Ut mmy 4 10,800] A 0.5 - - -| 1] 12,500 0.0] - - -l - - 5 11,100 A 0.4
g 44| Z Ay 4] 12,000 A 0.9 - - -l - - -1 1| 8,800 0.0] - - 5 11,300 A 0.7
45| K2 ST 8| 12,500 A 0.6] 1] 35000 A 1.4 - - -l - - -l - - 9| 15,000 A 0.7
7! 46|— e My 4| 23,500 2.9] 1| 34,000 0.6] - - -l - - -l - - 5[ 25,600 2.5
a7 FAER 4 13,800( A 0.9[ - - -l - - -l - - -l - - 4 13,800 A 0.9
48| | 7-my 4] 12,500| A 0.8 - - -l - - -l - - -l - - 4] 12,500 A 0.8
49| pgmy 3| 10,000] A 1.0] - - -l - - -l - - -l - - 3[ 10,000 A 1.0
50|t 3[ 20,600( A 0.4 1f 34,600 A 0.3 - - -l - - -l - - 4| 24,100 A 0.4
AR AT 5[ 11,200 A 0.4 - - -l - - -l - - -l - - 5 11,200 A 0.4
[oein 2| 18,800| A 0.3 - - -l - - -l - - -l - - 2| 18,800 A 0.3
AN EE 133 20,200 A 0.4] 28| 45,600 A 0.4 3| 17,800 0.0 5| 9,800 A 0.6 - -| 169] 24,100 A 0.4
#BTHEmEKIE  F 549) 93,800 0.3| 107] 245,000 1.7) 15[ 71,800 0.4 11| 31,100 5.3/ 40| 27,000[ A 0.8 722| 111,100 0.5
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51|f R 28| 15,700 A 0.8] 2| 27,000 A 0.9| - - - -l - - 30[ 16,500 A 0.8
5| 52|y 3[ 7,800 A 0.4 1f 18,500 A 2.6 - - - -l - - 4| 10,500 A 1.0
" 53| BEIRAT 4 14,200 A 0.7 - - -l - - - -l - - 4 14,200 A 0.7
54 R AAET 4| 12,400| A 0.4 - - -l - - - -l - - 4] 12,400] A 0.4
7 55| K% Ei] 4 7,900 A 2.6 1 17,500 A 2.8| - - - -l - - 5/ 9,900 A 2.6
1| 56 |gERamT 4| 15,100 A 0.5 1] 25,200 0.0] - - - -l - - 5 17,100 A 0.4
x| | 8| 11,500 A 1.1 1] 20,600 A 0.5] - - - -l - - 9| 12,500 A 1.0
o Jgs T 1| 8800 A 11| - - -l - - - -l - - 1| 8800 A L1
i 3| 8100 A 0.7 - - -l - - - -l - - 3| 81000 A 0.7
L weii il 7,700 0.0 - - -l - - - -l - - 1| 7,700 0.0
Sh R 5| 13,000 A L.1] 1 23,700 A 1.3| - - - -l - - 6] 14,800 A 1.1
o| |EE 3| 16,400 A 0.4] - - -l - - - -l - - 3| 16,400 A 0.4
i3] 3| 9,600 A L.1] - - -l - - - -l - - 3l 9,600 A 1.1
= FH 3| 8,800 A 0.4 - - -l - - - -l - - 3| 8800 A 0.4
B oty 5[ 10,200 A 1.5 - - -l - - - -l - - 5 10,2000 A 1.5
T 1 7,800 A L.3[ - - -l - - - -l - - 1 7,800 A 1.3
&t 80| 12,800 A 0.9 7| 22,800 A 1.3] - - - -l - - 87| 13,600 A 0.9
& 629 83,500 0.1] 114] 231,400 1.5[ 15 71,800 0.4 11| 31,100 5.3[40] 27,000 A 0 809| 100, 600 0.3




